| What do | need to be abk to do?

| By the end of this unit you should be able to:
|+ Qdd Subtract and muttiply fractions

I+ Find probabilties using lkely outcomes

I'e Use probabiity that sums to |

le Estimate probabilties

: * Use Vern dagrams and frequency trees
I

I

|

I I
I I
: Event: one or more outcomes from an experimertt :
| Outcome: the result of an experiment I
| Intersection: elements (parts) that are common to both sets |
| Union: the combination of elements in two sets I
| Expected Vale: the valve./ outcome that a predition would suggest you vl get |
: Universal Set: the set that has al the elements :
| Systematic: ordering values or outcomes with a strategy and sequence I
| Product: the answer when two or more valves are muttipled together |
I I

»  Use sample space diagrams
* Cakulate probabiity for independent events
» ke tree dagrams
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The possibe outcomes
from tossing a con
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:Odd Subtract and muttiply fractions o ! leeliness of a probahlltu |
| (ddtion and Subtraction Multipleation | I | | I |
| 4 2 3 x 2 I : Impossible Eveg chance Certain :
- -z —K— 0or 07 150 7
| 3 2 A | Themore lkely an event the further up the probabilty it will be in comparison to |
| _X 3— E : | another event (it wil have a probabilty closer to 1) |
| 12 10 2 e e e e e
1= 15 = 1c Modeled: I
I l15—15] 15 I M ‘ Probabilty s alays a valve between 0 and | ‘ o I
| 3 Total number of |
| Use equivalent fractions to parts in the diagram The probabilty of getting a blue ball s % |
| find  common mufipe for ~.The probabilty of NOT getting a blue bal s g I
| both denominators L ) |
| 4 The sum of the probabilties is | |
'Expeimentaldata 0 || Tabkes, Ve dagrars, Frequercytrees ":
I 7 Frequency trees and two-

: Treorelicd | o exect Lo hapren The more trigk that are | Frequency trees @ iy taes can shon the. |
probabilty completed the closer | 60 peopk vsited the z00 ore Salurday morrr § & sane nformaten |
I expeﬂmeﬁ’[m p(obabmtg I 26 of them were adults 13 of the adult's I

|| Expermentdl What actualy happens when we and theoretical Il favourtte anmal was an ekphant 24 of the
babilt trg it out |} chidren’s favourte anmal was an elephart The total cobmns on two- |
| probability probabilty become | | . b vy tabks show e |

wo-way table
I The probabilty becomes more. accurate with more trigk. | I posst deromralors
L Theoretical probubilty is proportional | : Okt | Chd | Totd Ploat) - 22 |
I_::::::::::::::::::::::I Eephant 3 24 37 |
Samgle SPACE The possble outcomes from roling a dee I P(Chid vith favountel . |
| ; L , | | Other 13 0 23 anmal ds ekephant) = 5% |
¥ |
12|13 4|5]6 P(Even = Total 46 34 60
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Iﬂdepeﬂdeﬂt (’,Vé’,ﬂts : : nset A OND set B inset A OR set B nset A NOT inset A
The outcome of two events happening The P (Aand B) | P@NB) P(AUB) P(4) P (&)
outcome of the first event has no bedring on the P (A)x P (B) I__________________________________________________.I
outcome of the other = X
Tree. digayam for independert. evert | Pezendept deveg\tts The outcome of the first event has an impact on the ‘
sobel has a bag with 3 ble counters and 2 yelow She picks a counter and replaces it before the second pick | (eet lgeyom Tor dependen second event
event

Because th loced th d pick has th babilt
e frey ore rep ¢ second pek s e same preodbity |} O 'sock draner has 5 black and 4 vinite socks, Jamie picks 2 socks from the drginer
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NOTE: s “socks” are removed I
from the drawer the number I
I
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of tems n that drawer s also
reduced - the
denominator is ako
reduced for the second
pick
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Sum of probabities

Sum of probabilties




